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INPUT - | OUTPUT oy T e
' . In the T-table shown, the output is calculated from the input by
1 5 two operations. .
. " ~Tofind the rule, follow the steps below:
m . N
Step 1 Step 2 . Step 3 _
Find the step (or gap) between Muitiply the INPUT numbers by What must you add to
" the numbers in the OUTPUT the gap. each number in the second
column. column?
INPUT ‘Ng,‘;; * | output INPUT | 'NGPX; * | outpuT INPUT 'NGPX; * | output
3 3 1 3 5
2 8 ; 6 8 6 8
11 9 11 9 11
S —
Step 4 Add 2
Write a rule for the T-table — Rule: Multiply by andadd __2
TEACHER:

In T-tables it is common to use the titles "input” and "output,” or "term number“ and "term."” We Will use both forms.

_.............-.._............_........_........_-......-_..__-_....*._....‘.-_..-...........-._...._.-_...._-...........___............__......__...._.._..._...._......-...._......

1. Use the steps above to find the rule that tél_ls you how to calculate the OUTPUT from the INPUT:

a) [ INPUT x by [ INPUT x '
INPUT GAP OUTPUT , INPUT GAP" OUTPUT
1 * .3 1 b 8 -
2” —{ — o
2 A2 5 2 2 4 12 ‘
3 6 7 3 L P\
Add _! Add _“
. ) ‘ , i Y
Rule: Multiply by _ & and add Rule: Multiply by and add
. Gé"%ff“"&‘?’ z»?& 'tw;}'ﬁmgﬁﬂ +{ Ok f*«‘”% =L x E‘wg}m%' +% .
c) [~ INPUT x d) TINPUT % | g
A INPUT GAP OUTPUT INPUTk GAP S)UTPUT
1 g 7 T 1 g8 12
2. L 10 [> 2 | 19
3 4 13 2 s | ) 2 -
\ - — J : L i . .
Add _ 4

Rule: Multiply by /5 and add i“g'
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PA8 13 Flndlng Rules for T"tables Part | (continued)

2. . Write a rule that tells you ho

page 18<

w to calculate the OUTPUT (or Term) from the INPUT (or Term Number)

a) ~ - b)
INPUT x INPUT x - | ouTPUT
INPUT GAP OUTPUT INPUT GAP )
1 g 9 ~ 1 £ 12 -
; ‘ S , &
2 o 14 ~ 2 {7 18 :
5 — -
3 (g 19 3 « N2
N wf H s 7 . - f
Multiply by > and add S Multiply by __ & andadd__©
Ot pot = §xTapst +4 Outprts b Topt #6
c) - ’ d) .
: TERM TERM
x GAP ' x GAP. A
R 7 1 7
= b ) 5
2 e 11 < 2 =i 12 =
3 (7 15 B 3 (< 17 .
g 3 :
Multiply by __- - and add Multiply by 5 and add fa
Rarwn L %exm Mo boee™ gwﬁr T = gx & o Ppaa- bl A !Z_y

3. Write a rule that tells you how to calculate the OUTPUT (or Term) from the INPUT (or Term Number)

NOTE: In this case, you will have to subtract rather than add.

a) : INPUT x : b) - INPUT x
INPUT AP . OUTPUT INPUT GAP OUTPUT
1 g 4 ~ 1 T 2 s
: g = {%
2 10 9 . 2 "Ep 5 >
3 < YR ) 3 ) N
Multrply by > g and subtract ‘ Multlply by 4 :g and subtract l
Cé’m{eigw% - gx M?};x,d -1 : Tt fw‘f‘“ L ye}’rw&" -1
c) TERM ' d) ' TERM
TERM TERM
NUMBER TERM NUMBER TERM
NUMBER < GAP NUMBER | ", Gap- :
1 i 0 . 1, e 5 -
2 X 4 o 2 : G
; r\’z A >
3 L g | 3 5 17
Multiply by Lk and subtract _ Y . Multiply by __ & gf and subtract ‘
?@”vv\ Z%Ka%rw ;\}ML)&* e L{‘ Tea~ = {z ”‘?@"W‘ ﬁ“’“"wfﬂ - é)
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